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Precalculus
Chapter P Test Review
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1. Find thg diggance bek
5§ .leave answer

points (—8 and (3,
in radical form if needed.
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2. Solve: 3(x+ 2)=5@x-3) -7
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Write your solution irn{int erval notatlon ynd graph

it on the number line provided.
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4. Solve: | 2x+ 31(> D0, JULC o) 4. €2~V )
Write your solution 1m interval notation.
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6. Write the complex number (7 + 41) "H,"') 0.
in standard form, (4 - 31)(q¥3)
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U:zmx+b
3-:——;:x+5

-3 ='§L <lo> + A

“3=-2+b
& 42

-1=L

7. Find the equation of a line that contains (3, 4) 7.
and has a slope of 2. XY
Write the equationmmint—s]onp form.
[\9-\0,1 M(_X‘)‘ )] S‘br&-Iﬂ"‘(tt¢f+
AN - -
‘9 ()l 3) lé - 90( 2
Y - « Ax-L
8. Find the equation of a line that has x-int of 2 8. y=21
and y—int of 7. MR 4 b
W,Eite the %uation in slope—intercept form. -mx -/
(ipé) m < _7-01:—7-_-7— 0=m@) -7
(o, o-2 -t 0= 2Am-7
) 7 +1 +7
Xv Y lg =X~ 7
T=am
9. Find the equation of a line that passes throughs o 9.
(10, =3) and whose graph is pergendmular t} the
o ﬂf— 3 X
grap bx — 2. —=M
Write the equation in ' 2"
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10.  Write the equation of the line that passes through 10.
the points (4, =10) and ( 1, 5).
Write the éﬂuat%‘n in slopér Mercept form. (d My

m = 5--10 _ IS - -3 57—“3(")"')3
-1-4 -s 5= 2+b
“10=CG3)Y + __ d=b v
4%2_;‘35 &: -3X+2]
11. In standard form, write the equation of a circle 11.

ith center (2, =6) and radius 9. .
with center o and ra ius 9 (x- l-\31+( -kY =
(x-2)+(y--6)*=
(x- z)"+(4+6)" 8\
-.36c¢

[2. Solve graphically: @ 2x2 - 4x - 1= 12. -5
30
13. E9\|3j

13. Solve graphically:x2 - x - 6 <
Express your solution in 1 Val notation.
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